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Part A is of 25 marks and is compulsory.

Attempt any Five questions from Part B.

Part A

l. '{./ Which of the OSI layers handles each of the following ?

(@) Dividing the transmitted bit stream into frames. p
(6) Determining which route through the subnet to use.Ne

(c) Keeping track of whose turn it is to transmit.

vi{{ Which two layers of layers of 1SO-OSI reference model are absext in the TCP/IP
fxe - S,

2

model ?
PTO.
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ﬁ What are the advantages of using optical ﬁbn:[r over twisted pair and co-axial
4

cable ?

J/) What is full form of VSAT ?

‘y{ Differentiate between RING topology and STAR topology./ 3
‘L/v'{ Explain any three attributes of Frame (ag in HTML. 3
‘QW{ Differentiate between internal and external linking with examples. 3
7) Write HTML statement to make an image as marquee. 2
\Lﬂ/ Write the command to align the first table to left and second to right. ¥ 2
(x} Write the HTML statement for the given code . ‘
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Part B _
4?{ Differentiate between LAN, MAN and WAN. 6
(b)y Explain any rwo internet applications. 4
- | i * ‘/
/ Create an admission form in HTML using the following objects 10

Text Box¢ Radia stittons, ChechHoxes, T'?W’éﬂ, Seléct, Suhmwn HHM button.
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]
)*/ﬁ/ Differentiate between upload and download in terms of internet.
b
J’{ Expluin T.l"l:/'u[king of :

Ruhl'.Jrs. Hubs and Bridges.
. /é Using JavaScript write down a program 10 find the largest of three numbers given
6

by user.
4

Describe “ﬁﬁ"’ and “for ..... in” commands in JavaScript.
6

(@) Explain the logical operators with their syntaxes in JavaScript.
“txtNation™ 1o accept

(b) Prepare the following web page layout that contains two textboxes
4

nationality and “txtAge™ to accept age.

Enter the details
Enter vour nationality : [

Enter vour age : [ |

Send details

Write the JavaScript code to display the alert message “Eligible for Voting™ when both

the given two validations are true :

() The age should be numeric and should be > 18

(i) The nationality should be “Indian”

The alert message “Not eligible to vote™ should be displayed if any of the above

mentioned validations are false for the click event “Send details”.
P.T.O.



7. (a) Diferentiote between Cell Spacing and Cell Padding wath syntax

( 4

(@) Create the given webpage in HTML

(a)

(%)

]
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Write the code 1o cremie the following structure in HTML
dey+2 =1

Whnis'wﬂ"inlmscﬁﬂ’h;.dﬁn“ﬂm’uﬂ“fwﬁ'mu

ertuhoﬂnnmmlhﬂ‘nllowinn: .

() Micro Waves

() Satellites.

in Table tag.
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